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eglatletilkas cetrcina 2007

Klase
9

9
9
9
9

Kristiana
Sintija
Raimonda
Ketija
Vita
Roze
leva
Liga

Vards
Betija
Diana
Diana
Aija
Inese
Liene
Sigita
Sintija
kristine

Vards
Inga
Baiba
Dzeina
llona
Solvita

Uzvards
Kuzmane
Sivija
Udre
Gumbatova
Karuzina
Amolina
Kurmelova
Busa
Kuzele
Gailtte
Viksnite
Busa
Zarina

Uzvards
Kokorevi¢a
Sivija
Samsonkina
Avséjeva
Avséjeva
Samsonkina
Sumska
Viksnite
Jakobsone

Uzvards
Reca
Brokere
Eglite
Birka
Bogdanova

Grupa
I

Grupa
Il
Il
Il
Il
Il
Il
Il
Il
Il

Grupa
1]
1l
Il
1l
1]

Starts
0:00
0:10
0:20
0:30
0:40
0:50
2:10
1:10
1:20
1:30
1:40
1:50
2:00

Starts
0:00
0:10
0:20
0:30
0:50
1:00
1:10
1:20
1:30

Starts
0:00
0:10
0:20
0:30
0:40

Finiss
2:19
2:34
2:37
2:55
3:01
3:48
4:49
4:29
4:19
4:09
4:23
4:35
4:31

Finiss
5:49
6:43
4:52
5:11
5:14
5:30
6:32
7:33
7:46

Finiss
5:19
6:14
5:16
5:59
7:27

Rezultats
2:19
2:24
217
2:25
2:21
2:58
2:39
3:19
2:59
2:39
2:43
2:45
2:31

Rezultats
5:49
6:33
4:32
4:41
4:24
4:30
5:22
6:13
6:16

Rezultats
5:19
6:04
4:56
5:29
6:47

Vieta
2

4
1
5
3

Vieta
6
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Vieta
2

Punkti reitingam
2
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Punkti reitingam
1

Punkti reitingam
3




Vieglatletilkas cetrcina 2007

zvards TallekSana Bumbina 60 metri 1000 metri Punkti
1. léciens2. leciens Punkti metri Punkti sek. Punkti min, sek. Punkti kopa VIETA

21,5
39,2
37,2
29,9
22
22

11,2
10,3
9,4
12,1
11,6
10,8
12
10,4
10,3

6,02
4,27
4,38
5,33
5,25
4,39
5,29
5,35
4,29

8
34
33
12
15
19
14
20
27

-‘iris Tﬁadzéns

6 Sandris Stals
-‘ Viksnitis 248
8 || Janis Marcinkevics 303
9 || Makls = Viksnitis 310

“ Intenbergs
2‘- Jankovskis
F‘{'MLJankovskis
Gunda&‘Glazers

Erks  Ozols

Artlrs Glazers
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9
22

7
21
14
27

11,2 5,13
9,8 4,42
11,3 5,2
10,5 4,43
10,1 4,58
9,8 4,32
Artis Urjans 9,2 4,02 29
Ivars Balodis 9,9 4,4 16
. BGRUPA-ZENM

1 Ulvis Baltins 9,3 4,31 9

2 Janis Kokorevi€s 10 4,59 9

4  Raimonds Karolis 8,7 4,23 19

7 DEIS Upttis 938 4,13 12

10 Arkadijs Purmalis 9,2 4,24 12

A 00 01 =2 N DD OO W
- 01 00 O N W &~ N
D 00 N W A~ = 01N
a = DD & &~ 00 W




